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10 = 1015 × 10...

10−4 = 10−2 × 10...

105 = 102 × 10...
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A = 45628
B = 202, 5699
C = 0, 00000009
D = 0, 105432
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A = −3000× 0, 00005
B = 1700× 30000

C = (−0, 00007)× (−0, 0004)
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A = 103 ; B = (−10)4

C = 10−2 ; D = (−10)−2
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10 ; ; 104 ; ; 0, 0001 ; ; 10−3
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102 × .... = 4000
102 × .... = −7000
10−2 × .... = −9
100 × .... = 52
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10−5 × 105 ; ; 10−4 × 10 ; ; 107 × 10× 10−8
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(10−3)
2

; ; (105)
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; ; (104)
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a = (10−3)
2 × 10−4

b = 10× (10−2)
4

c =
108

(103)3

d =
10−2 × 108

(102)3

qui peut faire; peut faire mieux
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